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J@e: (i)
Note :
(ii

(ii

(i

Y7-93 H dfid G €, g d@ &
There are THREE sections in the paper A, B and C.

) B T 99T e 1 F G 10 9T & I G | TAF W O 3 H 8 T
& 10 977 FGAE FFR F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

i) Q@ &8 v 4 8 B8 6 51 & IR AT | §IF ¥ 3 b B 8 G
g#1 5 8T / 50 Il § I G |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within § lines / 50 words.

) QTG F 6 T § G 58T 4 59 & IR AT | ¥ 9% T 8 HF HI 8 Td
s7%7 15 &34 / 150 91&gl 4 3o v |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) A GFIH F GH 591 H) HHAR T G §F HIlrg |

Solve all the questions of a section consecutively together.

(vi) @1 YT 7 3= g #1 1R H 37 Igae & " 8

L. ()

i1

Only English version is valid in case of difference in both the languages.

A -1
Section — A
o= # & 1 o fafy ged sfus wds R s gro il & ol 1 30 @ A
Tt & 7
(a) weamy fafy (b) *fcoam wafse fafy
(c) W& aygaEH #ifafy (d) foanfier fafa

Which of the following methods is most accurate for the determination of the water
content of the soil ?

(a) Sand bath method (b) Calcium carbide method
(¢) Oven drying method (d) Pycnometer method
(10f4) P10,
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(i1)

(ii1)

(iv)

(v)

(vi)

o= 1 & =6t =t wafies (ger) =g (ver) 2

(a) FHEEE WG (b) 3HE ugH

(c) eHHETARE TgH (d) 39 | F HIE TE
Which one among the following is a primary rock ?

(a) Sedimentary rock (b) Igneous rock

(c) Metamorphic rock (d) None of the above
fopeft ferdht <t oo e fra e et 2

(a) Tordt < =vri <t It (b) Tt & =uii & snen
(c) fiFwmETmas @ () IWwad

The bearing capacity of a soil depends upon

(a) size of the particles

(b) shape of the particles

(c) cohesive properties of the particles
(d) All of the above

fopet oft wesrdm fidt & fafSra e 4, oy wfaws g 2

(a) &fast (b) FEaH

(c) @fasd4s° (d) afasrd 30

In passive state of cohesionless soil, minor stress is

(a) Horizontal (b) Vertical

(c) 45°to horizontal (d) 30° to horizontal

foreft frdt o wes daaa wltew foban stmen 2, 39 wge B4R &1 gean A WA
Y B 7l H1 Furd & figen g 2

(a) 5.40 fomm ua 450 fafy (b) 2.6 TFmua 310 fufy

(c) 4.80 fermrwa 310 fufy (d) 2.60 femm ua 450 fifyy

For standard compaction test done on soil, the mass of hammer and drop of the
hammer are

(a) 5.40 kg and 450 mm (b) 2.6 kgand 310 mm
(¢) 4.80kgand310 mm (d) 2.60 kg and 450 mm
fereht oft Tefieft firdh & fordl wadt wafera e 6 fafu 2

(a) ta-wiig ferdem (b) T ferfiemt

(c) ta-ga feufiemm (d) ta-zm e

For sandy soils the most common method of stabilization is
(a) Soil cement stabilization (b) Mechanical stabilization
(¢c)  Soil lime stabilization (d) Soil-bitumen stabilization
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(vii) #.&ft.3m. %1 352
(a) a7l g %1 HY (b) YA % T F A
(c) ool U (Fedid) hI =1 (d)  HaR T (Feurd) Fl =1
C.B.R. is used

(a) Measure of soil strength (b) Measure of soil characteristics
(c) Flexible pavement design  (d) Rigid pavement design
(viii) 9Tt 1 AT (w) 1 19 9 2 5 2
The formula for water content determination is (w) —
(@) w= (Ei] * 100% (b) w= (WS] * 100%
Ws Ww
©) w= [“S]*IOO% d w= [WWJ*IOO%
Wv Ws
(ix) Weae spoEqu udteu § firdt % Wi o #ives wideas &@m 2
(a) weAH (b) T
(c) Fufla faaeft gae w (d) 3w |t
In direct-shear test the soil load is subjected to more stress at —
(a) Centre (b) Edge
(¢) Top and Bottom (d) All of the above

(x) fr i @ @ i perma 6 amed aHiwm 2 7
Which of the following is the Coulomb’s strength equation ?

(@ S=C+tané (b) C=S+Ctand
(¢) S=C+otand (d) S=tané¢ (1x10)
Yo —
Section - B
2. fudt ot aromeran @ s frem w6t wftmfya Fif |
Define soil permeability and Darcy’s law. (3)

3. el oft firdt < fm wwon e, gefa o amar 9 e RO e < Aty
Hfs |

Define ultimate bearing capacity, safe bearing capacity, and allowable bearing
capacity of a soil. 3)

4 freft oft fird 3 dee ) wTfaa S0 916 R B fafed |

Write the factors which affect the compaction in the soil. 3)

P.T.O.
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10.

11.

12.

13.

14.

15;

fidt & foreft g < wiwan 40% awn smifesd 99ea 2.6 2 | 39 gg & fishan s, I
U, HfH e 371d o |

The soil specimen has porosity 40% and specific gravity (relative density) 2.6. Find
voids ratio, dry density and saturated density of the soil. (3)

afra 3 fifera g1 2@ 4 s 1 sarsd 9o fr g gre &t ot ngred |

Differentiate between active and passive earth pressure and also define earth pressure

at rest. 3)
w1 61 gaIdl %1 qusgd |
Explain the consistency of a soil. (3)
farfim =gl 1 3ermw afea dfem o qwsmss |
Brief description about the different types of rocks with example. 3)
firgh i ot am @ freig gra =1 wionfya i |
Define seepage velocity and seepage pressure in a soil. (3)
g -
Section - C
fereft furdt <t aret i sma v Y fafer =6 fem afea awzms |
Explain the method with neat diagram of determine a liquid limit of any soil. (8)

forelt frdt a1 fm (3rar) oind fafy gro aomemar-woies s %@ 6 faf i fom afa
aaFTE | '

Explain the method of determine the coefficient of permeability with neat diagram of

a soil with constant head method. (8)
et oft Tt <61 e sima 3 & fod 99 sEgw i =6 o afea gazmea

Explain the Vane shear test with neat diagram to determine the strength of a soil. (8)
et & ftsmeai #1 fafed |

Write down the assumptions of Terzaghi’s. (8)
WA W 1S % AR A S wde i fam afaa wwsd |

Explain Standard Proctor Test as per IS code with diagram. (8)
el # Hed vd wefived | e i ferfad |

Write down the difference between Compaction and Consolidation in a soil. (8)

Es




